
Hello,

During a recent discussion with one of my colleagues, a question came up
about the lack of scrambling on 1000BASE-CX and how that might impact
radiated emissions tests.

While I do not have the time or resources to perform EMC tests on a
1000BASE-CX link, I was able to compare (via simulation) the relative
amplitude of the frequency components of a continuous IDLE signal versus a
scrambled NRZ data pattern.

Attached is a plot of the resultant FFT analysis for a 1000 bit time sequence.

It shows a substantial harmonic content at various frequencies of interest. I
believe that this simulation suggests that we should perform some tests or
compare this data against previously gathered data to ensure that we are not
going to have a problem with FCC/CISPR compliance when the IDLE signal
is being transmitted.

Regards,

Dan Dove
Principal Engineer, Workgroup Networks Division
Hewlett Packard



Date/Time run: 05/28/97 22:25:13
* C:\MSIM71\SCHEM\GIGABIT\GIGABIT.SCH

Temperature: 27.0

Date: May 28, 1997 Page 1 Time: 22:33:32

(B) GIGABIT.dat, Idle.dat

0Hz 1.0GHz 2.0GHz 3.0GHz 4.0GHz 5.0GHz

           Frequency
20*log(v(r2:2))

40

30

20

10

0

V
o
l
t
a
g
e versus scrambled NRZ  The RED trace represents IDLE.

Notice the relative spectral content of nonscrambled IDLE


